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GEOGRAPHY
Paper -1l

Note : This paper contains fifty (50) objective type questions. Each question carries
two (2) marks. All questions are compulsory.

1. Rio Grande ridge occurs in 6. Who among the following provided a
(A) South Pacific Ocean functional classification of towns ?
(B) South Atlantic Ocean (A) Carter (B) Nelson
(C) North Pacific Ocean (C) Zipf (D) Mumford
(D) South Indian Ocean

7. Principle of uniformitarianism was

2. Which of the following soil is fich in clay ? explained by

(A) Spodosol (B) Ultisol (A) Hutton and Playfair

(C) Inceptisol (D) Vertisol (B) Ritter and Humboldt
(C) Huntington and Gilbert
3. Which of the following maps has the (D) Davis and Dutton

largest scale ?

(A) Atlas map 8. The horizontal displacement along a
(B) Wall map fault is called
(C) Topographical map (A) Dip
(D) Cadastral map (B) Throw
(C) Heave
4. Which of the following human racial (D) Limb

groups has epicanthic fold in eyes ?
(A) Caucasoid (B) Negroid

(C) Mongoloid (D) Australoid 9. Which qf the following f(?rest types is
economically more exploited ?
(A) Selva

5. Who among the following does not

support the concept of possibilism ? (B)
(A) Blache (B) Brunhes (C) Tropical Deciduous forest
(D)

(C) Bowman (D) Buckle D
K-0815 (3) Paper I

B) Taiga

Mediterranean forest
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11.

12.

13.

14.

Burgess applied his concentric zone
model of urban land use to the city of

(A) London (B) Chicago
(C) Boston (D) Rome

Identify the correct descending order
sequence of states in India with regard
to sex ratio as per census 2011.

(A) Kerala, West Bengal, Chhattisgarh
(B) Kerala, Bihar, Uttar Pradesh

(C) Kerala, Tamil Nadu, Andhra
Pradesh

(D) Kerala, Karnataka, Chhattisgarh

Among the total world population in the
world in 2013, the share of population
with more than 60 years of age is

(A) 8.5% (B) 9.4%

(C) 13.4% (D) 14.5%

As per World Population Prospects :
2012 Revision of the UN, the country
which will have maximum decline of
population between 2013 and 2050 is
(A) Bulgaria
(C) Japan

(B) Romania
(D) Germany

Who among the following are referred
to as “Fathers of Modern Geography” ?

(A) Hutton and Playfair
(B) Ritter and Humboldt
(C) Ratzel and Semple
(D)

D) Blache and Brunhes
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Identify the pair of states which have
maximum area of sub-Alpine and
Alpine forests

(A) Jammu and Kashmir and Himachal
Pradesh

(B) Uttar Pradesh and Sikkim
(C) Arunachal Pradesh and Nagaland
(D) Manipur and Arunachal Pradesh

Which of the following countries has
large reserves of natural gas ?

(A) Canada (B) Japan
(C) China (D) Russia

Sita and Swarna are the short west
flowing rivers in

(A) Kerala
(C) Goa

(B) Karnataka
(D) Maharashtra

Identify the ocean current which is
different from the other three

(A) Canaries current
(B)
(C) Oyashio current
(D)

Humboldt current

Kuroshio current

Rimland theory argument is based on
(A) Land based power of world politics
(B) Maritime mobility of select nations

(C) Involvement of Germany-Russian
empires

(D) Prominent role of pivot area

Paper Il
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Which biosphere reserve was first
created in 1986 in India ?

(A) Sunderbans
(B) Nanda Devi
(C) Manas
(D) Nilgiris

Ablation is a process associated with

A) Weathering

(A)

(B) Mass wasting
(C) Chemical weathering
(D)

D) Glaciers

Consider the following statements and
identify the correct answer using the
codes given below :

1. Foster used temperature and
humidity for his clinograph.

2. Smith used relative relief to calculate
average slope of an area.

3. Climatograph was devised by
Conrad.

4. Ergograph shows the relationship
between climate, seasons and crops.

Codes :

(A) 1 and 2 are correct
(B)

(C) 3and 4 are correct
(D)

2 and 4 are correct

1 and 3 are correct
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Consider the following statements and
identify the correct answer using the
codes given below :

1. North-Eastern USA has very high
density of population.

2. Western Australia has very low
density of population.

3. In Canada highest population
concentration is noticed in the North-
Western parts.

Codes :

(A) Only 1 is correct

(B) Only 2 is correct

(C) 1 and 2 are correct

(D)

D) 2 and 3 are correct

Which of the following regions is
significant for iron ore production in the
world ?

(A) Katanga (B) Karaganda
(C) Mesabi range (D) Baku

Consider the following statements and
identify the correct answer using codes
given below :

1. Kiruna in Sweden is significant for
production of coal.

2. Krivoi Rog is a significant region for
mining of iron ore.

3. Chile is the most significant
producer of copper in the world.

Codes :

(A) Only 2 is correct
(B)

(C) 2 and 3 are correct
(D)

1 and 2 are correct

1 and 3 are correct
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Consider the following statements
regarding glaciers and identify the
correct answer using codes given
below :

1. Roche Moutonne has smooth
surface on one side and irregular
surface on the other.

2. Drumlin is an erosional landform by
glacier.

3. Arete refers to sharp knife-edged
boundary of adjacent cirques.

Codes :
A) Only 2 is correct
B) Only 3 is correct
C) 1 and 2 are correct
)

D) 1 and 3 are correct

(
(
(
(

Consider the following statements and
identify the correct answer using the
codes given below :

1. Dry point settlements are more
prevalent in desert areas.

2. Zipf elaborated rank-size rule.

3. Urban centres have a positive sex
ratio compared to the rural
settlements.

Codes :

(A) Only 1 is correct
(B) Only 2 is correct
(C) 1 and 2 are correct
(D)

D) 1 and 3 are correct
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Author of the book “Perspectives on the
Nature of Geography” is

(A) Haggett (B) Harvey

(C) Hartshorne (D) Harris

In the survey of Indian topographic
sheet, if the number is 57 K/15, the scale
of the map is

(A) 1:5000
(C) 1:50000

(B) 1:25000
(D) 1 : 250000

The Indian National Cartographic
Association was established in

(A) 1979 (B) 1981
(C) 1984 (D) 1989

Which among the following is not a
formal region ?

(A) Steppe
(C) Taiga

(B) Veldt
(D) Hinterland

Consider the following statements with
regard to Karnataka and identify the
correct answer using the codes given
below :

1. About 33% of net sown area is
irrigated.

2. Shimoga and Mandya have the
highest share of irrigated area
among the various districts.

3. Canals have the highest share
among the different sources of
irrigation in Karnataka.

Codes :

(A) 1 and 2 are correct
(B) 1 and 3 are correct
(C) 2 and 3 are correct
(D) Only 2 is correct

Paper Il



33.

34.

35.

36.

3 NI ﬁe%ﬁ%ﬁa@ TOMER 02 83 TN
L300 BoBeeoBOnvY); ﬁacﬁfamd@{ 508
1. &0RmonE @08) NRLRidm WRCH
FROONY, ABVT,T ¢ mn’n’@?@m
FORRITIZS.
2. TeRo3pecndNT®
T, & FEOOTRF 20 3R
3. BODWIT 2TORWTO AR
LT3 FIT.
RodezagTned :
(A) 23c30 w3, =0
(B) 33c30 B3, =0
(C) 1023 330 7D
(D) 2 =023 33w 7

Q a’oq R)TO

B3 FINTRNTY_ 0333 4ITECH NVBMTED)
oplenled z&@da’g{ WINROZT ?

(A) RESOURCE SAT

(B) CARTOSAT 2B

(C) RISAT

(D) OCEAN SAT

BIOBNI 6@9@&3@5@& @@a’é Qw@%)cﬁscb
3330 7?

(A) FpeAT

RomeF NBRBALI) B 2R, 9Y3E
B50DE) ORIYT ?

(A) 300 — 1000 km

(B) 2000 — 6000 km

(C) 30000 — 36000 km

(D) 5000 — 15000 km

Paper Il

37.

38.

39.

Total Number of Pages : 16
D ema’?aw@ojad ﬁzi% ugcé TEeBO0T,
RBPWT I FRR LBE BTEBNY TEN
QTOTTN WeRITW MINYY, ert
33032023,
(A) Q00T OB RIRTIBNED
(B) a’%ﬂdg TRTIBNRT
(C) ROBRT =eTBATO
(D) 59,300 T8N

SNVZT RREPIGFTE FORO 2T STRET
230003 O T ERPOTNE FoT) 308 BT
WIEonon 88 FYNTRYNTY_ C3RR)TO
F202oNT ?

(A) mgrjlé,i:ae@ece

(B) € emperso”

(C) oRreeT

(D) =, Hociecr

YA &%@@n’@’?ﬁ% TONEIX o2 s"v@@i
#o‘ée@adﬁ@ozﬁ 00N emgdﬁsaq o8y

1. LANDSAT 83201259,
pbenlebrianlovbel

2. AT STTETIT® 0w AFOCWT
OB FROFCT A, O
RO OTDTENTR, TRONT.

3. 2030 YopeSer SRuR 3T 10 DTN

3.
4. QTWT T,08H,emI,8F° & edCIOT®
SRORBT 15 weesv” TS,
Rodezagoned :
(A) 10833 %0
(B) 2 &5383 3 %0
(C) 13224 =0
(D) 2034 =0

K-0815



33.

34.

35.

36.

Consider the following statements and
identify the correct answer using the
codes given below :

1. Pteropod and Globigerina are
oozes found in the deep sea.

2. Radiolarian is a calcareous ooze.
3. Diatom is a siliceous ooze.

Codes :

(A) Only 2 is correct
(B) Only 3 is correct
(C) 1 and 3 are correct
(D) 2 and 3 are correct

Which Indian Satellite provides radar
imagery ?

(A) RESOURCE SAT

(B) CARTOSAT 2B

(C) RISAT

(D) OCEAN SAT

Climatograph is a diagram devised by
(A) Foster

(B) Geddes
(C) Munns

(D) Taylor

Most of the communication satellites are
placed in orbits having an altitude of

(A) 300 to 1000 km
(B) 2000 to 6000 km
(C) 30000 to 36000 km
(D) 5000 to 15000 km

K-0815

37.

38.

39.

Total Number of Pages : 16

The winds blowing from the subtropical
high pressure areas towards the
equatorial low pressure belt are the
extremely steady winds known as

(A) Periodic winds
(B)
(C) Monsoon winds
(D)

Westerlies
Trade winds

The phenomenon of Aurora Borealis the
display of red and green lights in
Northern hemisphere is due to the
radiations from

(A) Magnetosphere
(B) Troposphere
(C) Mesosphere
(D) Stratosphere

Consider the following statements and
identify the correct answer using the
codes given below :

1. LANDSAT 8 was launched in 2012.

2. It has operational land imager and
thermal infrared sensors.

3. The temporal resolution of
LANDSAT 8 is 10 days.

4. lts panchromatic spatial resolution
is 15 metres.

Codes :

(A) 1 and 3 are correct
(B) 2 and 3 are correct
(C) 1 and 4 are correct
(D)

D) 2 and 4 are correct
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40.

The atmospheric layer which reflects
radiowaves is

(A) lonosphere
(B) Exosphere
(C) Stratosphere
(D) Troposphere

41. In which year the International
Geosphere, Biosphere Programme was
formulated ?

(A) 1978
(B) 1996
(C) 1986
(D) 1988

42. The number of major agro-climatic
regions in India is
(A) 10 (B) 12
(C) 15 (D) 22

43. Bhilai, Rourkela and Durgapur steel
plants were started
(A) Before independence
(B) During First Five Year Plan
(C) During Second Five Year Plan
(D) During Third Five Year Plan

44. Barmer in Rajasthan is notable for
mining of
(A) Copper
(B) Oil
(C) Zinc
(D) Bauxite

K-0815

45.

46.

Total Number of Pages : 16

Match List | with List Il and identify the
correct answer using the codes given
below :

List -1 List-1I
(Terms) (Authors)
l. Free Face 1. Penck
Il. Pediplain 2. L. C. King
lIl. Endrumpf 3. W. M Davis
IV. Peneplain 4. Wood
Codes :
I | m v
(A) 4 2 1 3
B)1 2 4 3
C)2 4 3 1
(D)1 2 3 4

Match List | with List Il and identify the
correct answer using the codes given
below :

List—1 List—II
(Location) (Minerals)
l. Kalgoorlie 1. Gold
ll. Kuznetsk 2. lronore
lll. Katanga 3. Copper
IV. Krivoi Rog 4. Coal
Codes :
I | m v
(A)1 3 2 4
B)1 4 3 2
)2 1 4 3
(D)4 2 1 3
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Match List | with List Il and identify the
correct answer using codes given
below :

List-1 List—II
(Tributary) (River)
l. Papagni 1. Godavari
Il. Musi 2. Penneru
lll. Purna 3. Thungabhadra
IV. Hagari 4. Krishna
Codes :
I | m v
(A)1 4 3 2
B)y2 3 1 4
C)4 A 2 3
(D)2 4 1 3

Match List | with List Il and identify the
correct answer using the codes given
below :

49.

50.

Total Number of Pages : 16

Assertion (A) : Thermal inversion is
more common in intermontane basins
during winter nights.

Reasoning (R): Cold air descends from
the top along the slope and collects in
the basin.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation for (A)

(B) Both (A) and (R) are true but (R) is
not the correct explanation for (A)

(C) (A)istrue but (R) is false

(D) (A) is false but (R) is true

Assertion (A) : In recumbent fold, the
axis of the fold is horizontal.

Reasoning (R) : Dip angle varies
between the two Ilimbs of an
asymmetrical fold.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation for (A)

(B) Both (A) and (R) are true but (R) is
not the correct explanation for (A)

(C) (A)istrue but (R) is false

(D) (A) is false but (R) is true

List-1 List-1I
(Symbol) (Climatic type)
l. Cs 1. Marine West Coast type
. BW 2. Tropical Savannah type
lll. Df 3. Mediterranean type
V. Aw 4. Hot desert type
Codes :
I | m v
A2 1 3 4
B4 2 3 1
C3 4 1 2
(D)2 1 4 3
K-0815

Paper Il



0 0 0 Total Number of Pages : 16
U wdzsqn z’gs
Space for Rough Work



